EARAROBEEIERT — 2 N— IBISH —F

2018108178 (k) 14EIF5I28

m%ﬂ,ﬁfé Mt a2 k8 C3 ¥5FR—MW B
[AE£] 1 %:250,000 ~ 237#&:50,000 ™ ~ 3#&:38,000H  437#&:25000FH ~ 57&:12,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
Sp s a e s 3 | AlllE 1:15.3 1-1 39.0| — 1 488 | MRFNEL (tiEiE)
16|/ H-FLrz>rk 56.0 Z PR
QiAZ—ta—-X B:T7IVUX ) R PRV S
ol7lg| 7V / NTZTINY it || BIGES 130 88 |38.1| — | 4 | 460 %iﬁ”% ()
LixLYyH/xbx B:O-XOvY 2 | paue
H : NV 6 g%g’éé 1:16.7 10-9 |32 — | 9 | 512 1%%%%252&3;@?@
. 5
QA ak—L BTy by b © O | mmacs
4|5|5 %5/ MUFH— = e 49 @l - | 6 | S | EEE (him)
L:Av1z=yr—2 B:RATF4T7HE— (+4) ﬁéﬁé
\ 4 3 | RIIEEA 1:17.0 2-2 40.5| — 3 444 | NEL (AtiEE)
5/7/7|Yb3avx 54.0 1 FEwM
LHr—IUTL BEAUTA W 8 | ge (g
6l111(~"Vvo= 4 3 g%_%gﬁﬂ 1(:11/72.)1 4-3 4.1 — 2 482 EE%E (AcziE)
R:IAY>T75yva B:d—ILR3yE (-2) FRES
7189 7—%Z2 b a2a #7 | EERK 1(:317.)3 43 403 — | 5 | 4% Eﬁ;ﬂjﬂ (ltimi#)
. /4 =
Lo Y= BT EXZUZR b 0 | 2@ e
Y > PARAYZ %9 | HL#E 1:17.6 | @e| = | 7| e [EE)
o (11/2) . NEtA=—
LR YL THLTF— B RS—y R 8) | mmugis
oY 3| 7Kw 1Yy H— #o7 | HEREE L1 99 34| — |10 | e | BEEYW ()
Q:oA7% BO€E4rYa R e
10l8ltol EZ Y12 Y- 4 3 57“:-‘1‘{"%%: 1:(128).0 3-3 #n.3) — 8 482 fé?:%é% (AtimE)
L:T7—%ZXN)— B:EIV1RM4—F (-4) RS
® 1—F—@EBIERL
13—7-—
23 —F—
3= —F5— 6,7,10,(1,2,5,9),8,3,4
43—+ — 6,7,(1,2,5,9,10),8, (3,4)
[ N5
B 6 130M4 714K 6-8 250 e E 6-7 1504 JEE 4-6-8 11,510H
B B 6 120M 4-6 3,900 B = 6-8 380M EE 6-8-4 28,5004
8 170M 4-8 9,850M B E 6-8 570
4 1,860

ABICOVWTRDTEEERROODE. TR LIV,




